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^yJmob (g¡ÕmpÝVH$) 

GEOGRAPHY (Theory) 

 

{ZYm©[aV g_` : 3 KÊQ>o   A{YH$V_ A§H$ : 70 

Time allowed : 3 hours Maximum Marks : 70 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 8 h¢ VWm 2 n¥ð> _mZ{MÌm| Ho$ h¢ & 

 àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS >Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥>ð> na 
{bI| & 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >26 àíZ h¢ & 

 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, àíZ H$m H«$_m§H$ Adí` {bI| & 
 Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU nydm©• 

_| 10.15 ~Oo {H$`m OmEJm &  10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo 
Am¡a Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 Please check that this question paper contains 8 printed pages and  

2 pages of maps. 

 Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 26 questions. 

 Please write down the Serial Number of the question before 

attempting it. 

 15 minutes time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-book during this period. 

Visit www.ncerthelp.com For All NCERT Solutions, 
CSBE Sample papers, Question, papers, Notes For Class 6 to 12 

Please Visit www.ncerhelp.com For All Videos Lectures of all Subjects 6 to 12 



64/1/3 2 

 

gm_mÝ` {ZX}e : 
(i) àíZm| H$s Hw$b g§»`m 26 h¢ & 
(ii) g^r àíZ A{Zdm`© h¢ & 
(iii) àË`oH$ àíZ Ho$ A§H$ CgHo$ gm_Zo A§{H$V h¡§ & 
(iv) àíZ g§»`m 1 – 10 VH$ A{V bKw-CÎma dmbo àíZ h¢ & àË`oH$ àíZ H$m 1 A§H$ h¡ & BZ_| go 

àË`oH$ àíZ H$m CÎma 20 eãXm| go A{YH$ H$m Zht hmoZm Mm{hE & 
(v) àíZ g§»`m 11 – 20 VH$ bKw-CÎma dmbo àíZ h¢ & àË`oH$ àíZ Ho$ 3 A§H$ h¢ & BZ_| go EH$ 

àíZ _yë`-AmYm[aV h¡ & BZ_| go àË`oH$ àíZ H$m CÎma 80 eãXm| go A{YH$ H$m Zht hmoZm 
Mm{hE & 

(vi) àíZ g§»`m 21 – 25 VH$ XrK©-CÎma dmbo àíZ h¢ & àË`oH$ àíZ Ho$ 5 A§H$ h¢ & BZ_| go 
àË òH$ àíZ H$m CÎma 150 eãXm| go A{YH$ H$m Zht hmoZm Mm{hE & 

(vii) àíZ g§»`m 26 _mZ{MÌm| na {XE JE ^m¡Jmo{bH$ bjUm| H$mo nhMmZZo Am¡a pñW{V {XImZo Ed§ 
Zm_m§H$Z H$aZo go g§~§{YV h¡ & 

(viii) g§gma Am¡a ^maV Ho$ {XE JE aoIm-_mZ{MÌm| H$mo AnZr CÎma-nwpñVH$m Ho$ ~rM _| Adí` 
g§b½Z H$s{OE & 

(ix) aoIm-_mZ{MÌ ~ZmZo Ho$ {bE gm±Mm| `m ñQ>|{gbm| Ho$ à`moJ H$s AZw_{V Xr OmVr h¡ &  

General Instructions : 

(i) There are  26 questions in all. 

(ii) All questions are compulsory. 

(iii) Marks for each question are indicated against it. 

(iv) Questions No. 1 – 10 are very short-answer questions carrying 1 mark 

each. Answer to each of these questions should not exceed 20 words. 

(v) Questions No. 11 – 20 are short-answer questions carrying 3 marks each. 

Out of which one question is a value based question. Answer to each of 

these questions should not exceed 80 words. 

(vi) Questions No. 21 – 25 are long-answer questions carrying 5 marks each. 

Answers to each of these questions should not exceed 150 words. 

(vii) Question No. 26 is related to identification or locating and labelling of 

geographical features on maps. 

(viii) Outline maps of the World and India provided to you must be attached 

within your answer-book. 

(ix) Use of templates or stencils for drawing outline maps is allowed. 
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1. ñdñW OrdZ Ho$ Xmo gyMH$ H$m¡Z-go h¢ ? 
2

1
+

2

1
=1 

What are the two indicators of a healthy life ? 

2. ^maV _| ZJarH$aU H$m ñVa {H$g àH$ma _mnm OmVm h¡ ?  1 
How is the level of urbanisation measured in India ? 

3. eoa emh gyar Zo {gÝYw KmQ>r go boH$a ~§Jmb H$s gmoZma KmQ>r VH$ emhr amO_mJ© Š`m| ~Zm`m 
Wm ?   1 
Why did Sher Shah Suri build Shahi road from Indus Valley to Sonar 
Valley in Bengal ? 

4. h_mao Xoe Ho$ {bE CnJ«h g§Mma H$mo ~hþV A{YH$ _hÎdnyU© ~ZmZo dmbo Xmo H$maUm| H$m C„oI 

H$s{OE & 
2

1
+

2

1
=1 

Mention the two reasons which have made the satellite communication 
very vital for our country. 

5. ^maV _| {H$g H$maU go Ob H$s JwUdÎmm H$m H$m\$s A{YH$ {ZåZrH$aU hþAm h¡ ?  1 
What has led to a considerable degradation of quality of water in India ? 

6. g~go A{YH$ OZg§»`m dmbm _hmÛrn H$m¡Z-gm h¡ ? 1 
Which is the most populous continent ? 

7. pñÌ`m| H$mo nwéfm| H$s VwbZm _| O¡{dH$ bm^ Š`m| àmá h¢ ?   1 
Why do females have a biological advantage over males ? 

8. {dH${gV AW©ì`dñWm _|, ~hþg§»`H$ l{_H$m| H$mo {H$g àH$ma Ho$ {H«$`mH$bmnm| _| amoOJma 
{_bVm h¡ ?  1 
In which type of activities, do majority of the workers get employment in 
a developed economy ? 

9. {M{H$Ëgm n`©Q>Z {H$go H$hVo h¢ ?  1 
What is medical tourism ? 

10. amOñWmZ Ho$ Hw$N> joÌm| _| OZg§»`m H$m Cƒ KZËd Š`m| h¡ ?  1 
Why do some areas of Rajasthan have a high density of population ? 

11. ‘_mZd ^yJmob’ eãX H$s n[a^mfm Xr{OE & _mZd ^yJmob Ho$ {H$Ýht Mma joÌm| H$m C„oI 
H$s{OE & 1+2=3 
Define the term ‘Human Geography’. Mention any four fields of Human 

Geography. 

12. ‘‘gmW©H$ OrdZ Ho$db XrK© Zht hmoVm, BgH$m H$moB© CÔoí` hmoZm ^r Amdí`H$$ h¡ &’’ {H$Ýht 
VrZ Cn`wº$ VH$m] Ûmam Bg H$WZ H$s nw{ï> H$s{OE & 31=3 
‘‘A meaningful life is not just a long one, it must be a life with some 
purpose.’’ Support this statement with any three suitable arguments.  
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13. ñdÀN>§X CÚmoJ {H$Ýh| H$hVo h¢ ? ñdÀN>§X CÚmoJm| H$s {H$Ýht Xmo {deofVmAm| H$s ì`m»`m 
H$s{OE & 1+2=3 
What are footloose industries ? Explain any two characteristics of 
footloose industries. 

 

14. ZrMo {XE JE ^maV Ho$ 2001 Ho$ _hmZJar` eham| H$mo {XImZo dmbo _mZ{MÌ H$m 
gmdYmZrnyd©H$ AÜ``Z H$s{OE Am¡a {ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE : 1+1+1=3 

 

 

(14.1)       Am¡a      Ûmam A§{H$V _hmZJam| H$mo nhMm{ZE Am¡a CZHo$ Zm_ {b{IE & 

(14.2) CÎmar ^maV Ho$ {H$Ýht Xmo amÁ`m| Ho$ Zm_ {b{IE, {OZ_| H$moB© _hmZJa Zht h¡ & 

(14.3) ‘_hmZJa’ eãX H$s n[a^mfm Xr{OE &  
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Carefully study the map of India given below, showing metropolitan 

cities of 2001, and answer the following questions : 

 
(14.1) Identify and name the metropolitan cities marked as       and      . 

(14.2) Name any two states of Northern India, which do not have any 
metropolitan city. 

(14.3) Define the term ‘metropolitan city’. 

ZmoQ> : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©`m| Ho$ {bE, àíZ g§»`m 14 Ho$ ñWmZ na h¡ : 
Note : The following question is for the Visually Impaired Candidates 

only, in lieu of Q. No. 14 : 

 ‘_hmZJa’ eãX H$s n[a^mfm Xr{OE & n§Om~ Ho$ Xmo _hmZJam| Ho$ Zm_ ~VmBE & 1+2=3 
 Define the term ‘metropolitan city’. Name the two metropolitan cities of 

Punjab. 
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15. ^maV _| H¥${f-`mo½` ^y{_ H$m joÌ {XZ-à{V{XZ Š`m| KQ> ahm h¡ ? H$moB© VrZ H$maU ñnï> 
H$s{OE & 31=3 
Why is the area of cultivable land decreasing day-by-day in India ? 
Explain any three reasons. 

16. ^maV _| CÚmoJ Ob H$mo {H$g àH$ma àXÿ{fV H$aVo h¢ ? {H$Ýht VrZ CXmhaUm| g{hV ì`m»`m 
H$s{OE & 31=3 
How do industries pollute water in India ? Explain with any three 
examples. 

17. YmpËdH$ I{ZO {H$Ýh| H$hVo h¢ ? YmpËdH$ I{ZOm| H$s H$moB© Xmo {deofVmE± {b{IE & 1+2=3 
What are metallic minerals ? State any two characteristics of metallic 
minerals. 

18. ‘‘{XH²$ Am¡a H$mb Ho$ g§X^© _| àdmg, OZg§»`m Ho$ nwZ{d©VaU H$m A{^Þ A§J Am¡a EH$ 
_hÎdnyU© H$maH$ ahm h¡ &’’ ^maV go H$moB© VrZ Cn ẁº$ CXmhaU XoH$a Bg H$WZ H$m g_W©Z 
H$s{OE & 31=3 
‘‘Migration has been an integral part and a very important factor in 
redistributing population over time and space.’’ Justify the statement by 

giving any three suitable examples from India. 

19. ‘‘nd©Vr` joÌ {dH$mg H$m`©H«$_’’ H$s {H$Ýht VrZ {deofVmAm| H$m dU©Z H$s{OE & 31=3 
Describe any three characteristics of ‘‘Hill Area Development 
Programme’’. 

20. AnZo Ob g§gmYZm| Ho$ g§ajU Am¡a à~§YZ Ho$ {bE Eogo {H$Z _mZd-_yë`m| H$s Amdí`H$Vm 
h¡, {Oggo h_mar dV©_mZ Am¡a ^mdr nr{‹T>`m| Ho$ {bE Cn`moJ Ho$ `mo½` Ob n`m©á _mÌm _| 
{_bVm aho ? AnZo eãXm| _| ñnï> H$s{OE & 3 
What human values are required for the conservation and management 
of our water resources, so that our present and future generations may 
get usable water in sufficient quantity ? Explain in your own words. 

21. ‘dm{UpÁ`H$ newYZ nmbZ’ H$m Š`m AW© h¡ ? g§gma _| àM{bV dm{UpÁ`H$ newYZ nmbZ 
H$s {H$Ýht Mma {deofVmAm| H$s ì`m»`m H$s{OE & 1+4=5 
What is meant by ‘commercial livestock rearing’ ? Explain any four 
features of commercial livestock rearing practised in the world. 

22. nma-_hmÛrnr` aob_mJ© {H$go H$hVo h¢ ? nma-gmB~o[a`Z aob_mJ© Ho$ {H$Ýht Mma bjUm| H$m 
dU©Z H$s{OE & 1+4=5 
What are Trans-Continental Railways ? Describe any four features of 
Trans-Siberian Railway.  
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23. A§Vam©ï´>r` ì`mnma Ho$ nm±M> à_wI AmYma H$m¡Z-go h¢ ? àË`oH$ AmYma H$s H$moB© EH$ {deofVm 

~VmBE & 2
2

1
+ 2

2

1
= 5 

What are the five main bases of international trade ? State any one 
characteristic of each basis. 

24. ‘‘J«m_rU ~pñV`m± AË`{YH$ {ZH$Q>Vm Am¡a àË`j ê$n go ^y{_ go Ow‹S>r hmoVr h¢ &’’ {H$Ýht nm±M 
Cn ẁº$ VH$m] Ûmam Bg H$WZ H$s nw{ï> H$s{OE & 51=5 
‘‘Rural settlements are most closely and directly related to land.’’ Support 

this statement with any five suitable arguments. 

25. ‘‘^maV Ho$ {Z`m©V g§KQ>Z H$m àmê$n {dJV dfm] _| ~XbVm ahm h¡ &’’ {H$Ýht nm±M Cn ẁº$ 
CXmhaUm| g{hV Bg H$WZ H$s nw{ï> H$s{OE & 51=5 
‘‘The pattern of the composition of India’s exports has been changing over 

the years.’’ Support this statement with any five suitable examples. 

 

26. (26.1) g§gma Ho$ {XE JE amOZr{VH$ aoIm-_mZ{MÌ _| {ZåZ{b{IV Mma bjU A, B, C 

Ed§ D {XImE JE h¢ : 4
2

1
=2 

A. A\«$sH$m _| g~go A{YH$ OZg§»`m dmbm Xoe  

B. _mZd {dH$mg gyMH$m§H$ 2003 _| A{YH$V_ _yë` gyMH$m§H$ dmbm Xoe  

C. AmñQ´>o{b`mB© nma-_hmÛrnr` aob_mJ© H$m ApÝV_ ñQ>oeZ 

D. EH$ à_wI g_wÐr-nÎmZ  

 BZ bjUm| H$s nhMmZ H$s{OE Am¡a àË`oH$ bjU Ho$ gm_Zo ItMr JB© aoIm na 
CgH$m ghr Zm_ {b{IE & 

(26.2) ^maV Ho$ {XE JE amOZr{VH$ aoIm-_mZ{MÌ _| {ZåZ{b{IV H$s pñW{V Cn ẁº$ 

{M•m| Ûmam {XImBE Am¡a CZHo$ Zm_ {b{IE : 31=3 

(i) 2001 _| g~go H$_ OZg§»`m dmbm amÁ` 

(ii) VQ> na pñWV _hmamï´> H$m _hmZJa 

(iii) N>ÎmrgJ‹T> _| pñWV BñnmV g§`§Ì 
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(26.1) In the given political outline map of the World, the following 

four features A, B, C and D have been shown :   

A. The country having the largest population in Africa 

B. The country having the highest rank in Human 

Development Index in 2003 

C. The terminal station of the Australian Trans-Continental 

Railway. 

D. A major seaport  

 Identify these features and write their correct names on the 

lines marked near each feature. 

(26.2) In the given political outline map of India, locate and label the 

following with appropriate symbols : 

(i) The State having the lowest population in 2001 

(ii) A metropolitan city of Maharashtra located on the coast 

(iii) The Steel plant located in Chhattisgarh 

ZmoQ> : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©`m| Ho$ {bE, àíZ g§»`m 26 Ho$ ñWmZ na h¢ : 
Note : The following questions are for the Visually Impaired Candidates 

only, in lieu of Q. No. 26 :  

(26.1) A\«$sH$m _| g~go A{YH$ OZg§»`m dmbo Xoe H$m Zm_ ~VmBE & 
(26.2) _mZd {dH$mg gyMH$m§H$ 2003 _| A{YH$V_ _yë` gyMH$m§H$ dmbo Xoe H$m Zm_ 

~VmBE & 

(26.3) AmñQ´>o{b`mB© nma-_hmÛrnr` aob_mJ© Ho$ {H$gr EH$ ApÝV_ ñQ>oeZ H$m Zm_ 
~VmBE & 

(26.4) 2001 _| ^maV Ho$ g~go H$_ OZg§»`m dmbo amÁ` H$m Zm_ ~VmBE & 

(26.5) N>ÎmrgJ‹T>> _| pñWV bmohm Am¡a BñnmV g§`§Ì H$m Zm_ ~VmBE & 51=5 

(26.1) Name the country having the largest population in Africa.  

(26.2) Name the country having the highest rank in Human 

Development Index in 2003 

(26.3) Name any one terminal station of the Australian  

Trans-Continental Railway.  

(26.4) Name the State of India having the lowest population in 2001. 

(26.5) Name the Iron and Steel plant located in Chhattisgarh.  
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àíZ g§. 26.2 Ho$ {bE For question no. 26.2 
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